www.Padasalai.Net

uﬁ@ms&n
Roll No.

www.TrbTnpsc.com

CODE | VI

UGS - I 2 ugluled s uE s Gy

G ; 90 FLiL_rugsT

ol

(LMD QUi LOM a6 &8 & Taw i)
Qurss wliGusssT : 90

Ganiiay T EIUaITEHETESH GBI aNALIDMEET

e Osrgumus  SHniushg Qe

Q&TR&SIUC BT 65l S PasMsmeTs SIS Uiy & Sa0

1.

2.

10.

aflmLsma ued | Coralhg aymsiu'L OMR
aflen S5 meflGauGuw Glée Gaustr Gl

E&Caialise 90 aNeMnSGHET 2 siamar. oyEmETSHSNELD
gSULmuh afenLwefSsiuL. Caismmi.

sleorm srevrass 91 — 110 semflgin, 11— 145 gymiallwsb,
146 — 180 Feps SMIaU UTL RISETE SiThSme.

L

eaCaurm, efsrmainel GsrhissiulHsTsT LmhH
aficoLseflell g sfurer alaLulamars & fibs
gms OMR ofleorganefld o fu sl Lsdlsd Fa/
sl Bim ursdumfair. Cusrmeilommed SL Cousr(iia.
@ng elarmsanansE passiu’ DT ST D6y
flsd @Gmparargrs QoUusTd i @G
alammeingln s Oen CETEmes Cemaflasmos
Crrsma ad dinkg (panmuilsh LwETUES Hab.

gorag e slamelng el Ggfliuaihmn
satrmos) oGty sTrsinub Qelumsed 940Es
almeliEg  Qedmawh.  Crrligiamd  poein
ol R&Qasty aflsoméasmam (whel Geiwey.

alsmLsemar SHsstar_ilwl GnGsrsrEnn suflipsmmeemsat
siemm EralsmnGlls srhyg Gsustr(humammaytn Galg
@zrarereomd  OMR  —  aflsmLSamaflGur — gysbsvg
gl gsmefIGar Qe Sem Lng).

guGarm  sflurer  oflmLsed @ whiCues
surusLUEILD.

Corny yyhs Umg OMR aieLggraer wl G
(o né s srafiiurarilLg Qsr@ssan. eferrgrd
Qanrglmu TREHE AFRnem.

QumfQuwiiyl  ugddld gCaad  CamurBssT
Ggmeriieermey - aflsmrggraflar oyl ugHCu
EmEwunssd smeUuGis, -

sGamih S955 GamiGsmsrer Gaemaw (G
gougsr gy @Gess uSbaammars  gSammos
@i ayb.
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Time : 90 Minutes

PART - I1 : SCHOLASTIC APTITUDE TEST

(For Student of Class V1)
Max. Marks ; 90

INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you open

the question booklet.

n

Answers are to be given on the same OMR answer
shect provided for Part -1

There are 90 questions in this test. All are

compulsory.

The question numbers 91 to 110 belong to
Mathematics, 111 to 145 pertain to Science and 146
to 187 are on Social Science subjects.

Choose the correct answer from the options given
for each question and darken the corresponding
circle with blue / black ball point pen in the OMR
answer sheet.

Since the time allotted for this question paper is »ery
limited vou should make the best use of it by not
spending too much time on any one quéstion.

If you do not know the answer to any question, do
not waste time on it and pass on to the next one. [f
time permits, you can come back to the questions,
which you have left in the first instance and attempt
them,

Rough work can be done anywhere in the question
booklet but not in the OMR sheet / loose paper.

Each correct answer will be awarded one Mark.

Please return the OMR Answer sheet only to the

. invigilator after the test. You can retain the question

Booklets.

English version of the question paper will be
considered as final in case of any dispute arising out
of variation in translated version. '

Quote your seven digit Roll number without fail for
any future correspondence.,

PLEASE TURN OVER THE PAGE
ANSWERING AND START

http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html
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g1, i 0 _
(-2.56 x4.2)" = oo 91.  (-2.56 X 4.2)" = oo
Do 21
3) 10.752 4 nHo 2) 1
i 4) -10.752 3) 10.752 4) -10.752
I ; -5 49 92, Which numi
&  6Tetomsm_6or = 6 L igemsd — g nich number should be added to
Hlem_& @b 30 ¢ oty 4
4 -4
l) = 2) — ! . :._!
5 5 b 5 2) 5
»3 H= 3) 2 =3
p ) p , )4 4) ”
93. (133.(3;1_._(43_-. E)_ 93, 3 N_ (g3 .3\
+ 7) 8 55 T (14 X3 7 (48 ' 55) -
32 23 32 23
1)423 2)4-3-5 1)4-2-3 2)45}-
32 23 32 23
36— = = 1) 6 —=
)623 4)632 3)623 ‘)632
94. +/0.00003136—6ir &I Smeas. 94.  Find the value of ¥0.00003136
19 0.0056 2) 0.056 1) 0.0056 2) 0.056
3)5.6 4) 56 3)5.6 4) 56
95. 0,26, 12,20,30, —el@uL sememd 95, 0,2, 6,12, 20, 30, ------—--. Find the
ST 61T . missing number.
1) 40 2) 48 1) 40 2) 48
3) 42 4) 46 3) 42 4) 46

96. How many independent

96, 6T BTN UEDHLL speEBT IS Cl G mearm)
measurements are needed to

Gam_iuny —————— D6y 6T GEHEmeL.

13 2)4 construct a quadrilateral?

3)2 4)5 1)3 2)4
3)2 4)5

97.  (p&ed 5 LG sTeur Serfler 97.  Find the median of the first 5 prime

g bers
L EleneuLITes & ——- num
D3 2)5 13 2)§
3)2 4)7 3)2 4)7
388/4—2
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98.

99,

100.

101.

102.
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104,
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QUDTLLSEN0 X-\&aih, y- oFaih
Qe 9 & Qamsigmid ysiref] ~———
1) dloL sGarmeaeny

2) Qerhig 5515 Ogmmevny

3) oy dliysrafl

4) GeunmsT 6TgIR s

G DFlssH6r uSshmsHT Sx+2
Pﬁ}gﬂh 2x+3 ereufle, oo 60
SHDETE —~———
1) 3x -1

3) 14x + 10

2) 7x+5
43 7x+ 10

a—@ler esiTifleh g, LRGL 6T M—@str
& Diedletr GpLo g —————
1)%(2(1 +m) 2)2+Ga+m)

3)§-a+m 4)2(§a-+m)
IOSSOSS ausld sy (ppdsefls
&a(bihsv 39. yefleh @lretrL_meug)

6TEUT ——————
1) 12

3)13

2) 11
4) 14

Z=10 ereefléd, Z° — 3(Z-10) st

1) 10 2)7
3)3 4) 1000

eI erevorenflsar pLpsiTofled ep( Lriiehlsar
EsiTeRsd G(, LkieRlsdT sTLAR (M LIS
20 stexfley, oyslibleussar —————

1) 420 2) 240

3) 1680 4) 560

33 %’ % @lsir GFLD gD —————

1)0.3 2) 0.36
3)0.03 4) 33.3

388/4—2a

98.
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104.
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The point of intersection of x-axis and

Y-aXi$ i§ -mmmeuan
1) Abscissa 2) Ordinate
3) Origin 4) None of these

If the sides of a rectangle are 5x+2
and 2x+3 then its perimeter is ----—-
1)3x -1 - 2) 7x+5

3) 14x + 10 4y 7x + 10

The algebraic expression of double

the sum of one third of a and m is ==-a-

D3@atm)  2)2+(3a+m)

3)§d+m 4)2(§a+m)

If the

is ~=mmmmm
1) 12
3)13

2) 11
4) 14

If Z=10, then the value of
Z’ - 3(Z-10) is --—o-

1) 10 2)7
3»H3 4) 1000

If one-third of one-fourth of one-
seventh of a number is 20, then the
number is ——--—-
1) 420

3) 1680

2) 240
4) 560

The decimal form of 33 % % i§ ==

1)0.3 2) 0.36
3)0.03 4)33.3

http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html
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105. g 2-amay eSi@Edue, UmoE Sy et 105.
G]ng,gsg, Cormaulles 1.5%  euflumesn
@umUU(BEElmgj er6efled, 6 mudmst Qesmegore

The tax in a restiinrant is 1.5% of the
total bill. A family of 6 members paidl
a bill of Rs.750. What is the tax for

g @@L{Jugﬁd} errg';th.@_?sU-:&,@ 2 eurey their bill amount? ;
f{ﬁiﬂsmm Qumiu@in auflufissr 1) Rs.112.5 2) Rs.761.25
“““““ 3) Rs.11.25 1) Rs.812.5 :
I)Rs.112.5 2) Rs.761.25
- 3) Rs.11.25 4) Rs.812.5 :
106, .@(‘_El.@@ljlﬂl'—h Sjgeursgl 8% iy 106. A sum of money triples itsell zi-t’:_ﬁ%
U T A — T B Gafle eLstTm) per annum over a certain time. Find
LOL_rasssm(@hLn. the number of years.
s 2) 25 S 2) 25
3)10 4) 20 3) 10 )20
107, {ﬁ@&sﬁn_mgbg’j}sh A—@lsir Gy ———-. 107. The value of A in the following is ------
| 4A 4 A |
X A XA
C27A 27A
1)4 2)5 1)4 2)5
36 4) 1 36 4)1
108. | s, :
(4 + [21 +V5 + 4121 = me- 44+ (21 + V5 4 V121 = ceomem
v o
1)} o 2)2 i 2)2
3)3 4) 4 3)3 4) 4
109. QarpssiulL uLgdHs a&smen 109. How many triangles are there in this
(WpSCHTEIEIGST 2_siremeT ? figure?

/\ N

D16 2) 20 1) 16 2) 20
3; 24 4) 28 3)24 4) 28
388/4—1a
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105.

eI 2-6mey. SQS, uvhys &g
Gmrrg;g;g Carensuflss  1.5% sufwrs
QuoiuGRnE) rafi, 6 puissr Qe

- §OLUSHN Qurgsin om.750-&@ 2 smrey

SbhEsrmed QumiLEL aufluflsr
T 3 T E—
1) Rs.112.5 2) Rs.761.25
. 3) Rs.11.25 4) Rs.812.5
106. @@ GMAIN L oeurars 8% sl
ai55E0 ———— gy anBaafis epsirg
LOL IS T(GLe.
s 2) 25
3) 10 4) 20
107. &pssmnimilsd A-Glsr oy ————--
‘ "4A
x A
C2T7A
1)4 2) 5
3)6 4) 1
108. [ r
J4 + ,{!21 +V5+/121 = -
1 ' 2)2
3)3 4) 4
109. Qar@Rss0ul L UL 5560 5566
(p&HCHNETTRIZST 2 6vsTeoT ?
)16 2) 20
3H24 4) 28
388/4—1a

105. The tax in a restaurant is 1.5% of the

106.

107.

108.

109.

total bill. A family of 6 members paid
a bilt of Rs.750. What is the tax for
their bill amount? :

1) Rs.112.5 2) Rs.761.25
3)Rs.11.25 4) Rs.812.5

A sum of moncey triples itself at ?%
per annum over a certain time. Find
the number of years.

1)3 2) 25

310 4) 20

The value of A in the following is ----—--
4 A '

X A

27A
14 2)5
Ho 4) 1

]
| ! . ‘
34+\,-"21+v'r§+\/12 = oo

N
D1 2)2
3)3 4) 4

How many triangles are there in this

figure?
VAN

V

116 2) 20
3) 24 4) 28

http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html
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3,2 12
110, 277 x (3% = coemeeee 10, (2% x B = weemeee
64
Da 2)3 o4 3
& : 2 D 81 ?) 2
& 81 .
I3 95 2 o1
3 Ve 33 M s
fiafued / SCIENCE
111 é;(g@.ﬁ]m”@éi&f‘“‘.—l— L SEle0 il 111. If the side of each small cube is 2cm in
E’m&&gjm_@ﬁ@f&r L{é’“g":” 2 9‘5-'5 sveofied length, find the total volume of the cube
QUi serd FgTd e LT in the given figure.
L7 YA
< e
. 20eax | /7 & Bar /
. 2 % ' ‘
1 F 1 7
* 2 Qe fw el ey
1) 8 GaLf’ 2) 64 Qzaf’ 1) 8 cm’ 2) 64cmz
3) 192 Qa5 4) 32 Qa8 3) 192 em® 4) 32¢m
112. @@ sof cosme JyMUSS oargedlsit  112. Time period is measured by using a
. Smeoa G semréEL UL S Nery simple pendulum. Time period is
geofl sangellsnr Hlsmmemi o fafss 05 measured once again by increasing the
26T F6060T gty 2Jmea|GHITLD mass of the bob with the same length of
samsAL ILHSDS. SHGUTEmSIL the pendulum. What is the new time
ENLLIDIE (W period of the pendulum?
1) oysmeon| GrHTLD wormeLHiesmen 1) Time period will not change
‘2) Smevay CRTLD ohsfaSng 2) Time period will increase
3) gyemevey CETLD GonSIng 3) Time period will decrease
4) SimNn G (Lpes6dlsy LAY 4) Initially the time period will increase
ety GSOSDSI- and then it will decrease.
0 Qedafsfe Sumrerafl. sieTe] 113. Conl:vert 0 Kelvin to Fahrenl;elt.
113 : 459.4'F 1) 0°F 2) -459.4°F
1O F 2 3) -449.4'F 4) +449.4°F

3) -449.4'F 4) +449.4'F

I X

http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html
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e AR R R it o s

aflsmawimear g

) ey Bemsuufgysirar & Gummsmer
Bunsé Qaiusmp,

i) BWwés s 860 9 srer & Glumrpeflsor
Gousgeng wrhmeomb,

iii) Qumpefisar 6L 6LG6MG LOMDHMEITLD

iv) Qun efiser Hlsomenius wmmmesomts.
GBS sunfisr & flwimsst &o MG

D i iiwdmus iv . 2)i, i LOMMILD iii

""" 4) i, iii LOOMD iv

114.

R Gsious anges Qgmiiy Hyms
Brouiu’ Qerargy. 10 Q. ILLPGHl6
SIS SiWSHBLD (g-6iT Y 9.8 /)
1) 98 Nm™ 2) 9800 Nm™
3) 980 Nm™ 4) 9.8 Nm

lsdr Sk &SgN s QerLiy @lesrs

&

0) dstram g S @mibus ssmen.
FRIT&h(&HLD.

2) B&Grmb 2 Gooms&asmey
Whlsdr e b % & Fle LsHTL(D) m .

3) ilsiramy wemfluflsh Blsiranhsis 2 sromgy.

4} 2 GeorsSHstr eufiGw hsorGsarm’ (b

" umynGuig) o|gmend sn) s
YsuLh @ (% eumEL.

Wlstr mEblemeullsd 2 6rer s GumEensT
Bergnmit Qubp 6@ GurgaflsTms
Clgm_moGeaG (lsoT em L LosmLwi&
Qb wpsom

) 2 gmiedler epsuin strGsorm’_Lin

Ougissh.
2) sL_G560 eLpeuid LASTGSIM_ LD SjsmiL i
| Qeiigen.
3) greim(Bls60 ppeud LileirGeorm e 1o
IimLw& ClFiise
4) sk Estr ewpeuid LT Gsorm L LD
I 1& Cleilig .

116.

117.

Force may change
i) the state of »p object

i) the speed of an object
iii) the shape of an object
iv) the mass of an object
Find the correct statements
in the above
)i, itand iv

2) i, ii and iii
4) i, iti and iv

A rectangular storage tank is filled with
water. The value of g is 9.8m/s*. What is
the pressure at a depth of 10 cm?

1) 98 Nm* 2) 9800 Nm*

3) 980 Nm 4)9.8 Nm*™

Which is not related to clectro magnet

1) An electro magnet attracts a piece of
iron.

2) Nichrome alloy is used in
electromagnet

3) Electric bell has an electromagnet.

4) Current passing through a metal
produce magnetic field around it.

A neutral object can be charged even
without touching the neutral body with
a charged body. This type of charging
is called

1) Charging by friction

2) Charging by conduction

3) Charging by induction

4) Charging by magnet

http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html
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&
HS. @ran® dsirec, Giran@ Wsmusdsss 118. When two cells, two bulbs and switch
womau smes] Glemes Glgm i Glenszar iy are all connected in series, the electric
@mamsaliuGin Curs) s circuit can be represented by

istrameflemar &I Herer
v ruseflellmh g Coikas B sa.

. 1)
| 2
——t— | —t—
@ @
) .
: |
g- H— i
]
_. GG 6@
2 3
| HHE ) N
+) ! ) ! |
i B
| g ) or a walk in the park
119. @ wrsmef garg iy ne LA 119. A student goes for a walk in the par
" g giem yhsTeSinG meoLLufindldbars near her house. She starts from point
QessTmmsir. Hysusit A sT6TD yeirarfluSeSimi g ‘A’ walks in a rectangular path of
Lés yradlssl 78 Gomqud 38 length 7m and breadth 3m. She returns
glﬁm@'-h o éirer R QesunsiLTEmSUIln to the same point ‘A’. What is her
‘ L@ Bemr(pin A Lsraflsmis L Eorsir. displacement?
1 SsueT L hS @Lﬂﬁumﬁ'éeﬂ § 2 AL s wone wm , > :
' A - - - - m ----- " R im ~
* am v
' 1) 10m 2) 20m
1) 105 2) 20 8 3H0m 42l m
3) 0 Lﬁ 4) 21 Lﬁ' P en
UL ) s thg lometer of an
; 5 smemtuOmD gL BLr 120. What does the o«
120 mmﬁmrﬁifﬁgﬁz ilzs&ru(agmg. _automobile measure?
gewg i 2) Qarensvsy 1) Speed . 2) Distance
g)(‘;ﬂ&w@m&m ' l4) PRSI 3) Velocity o - 4) Acceleration
g

http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html
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121.

122,

123.

124.

125.

126.

R

" EXAMINATION 6TEOTM UM mepullsir

. GLSHET ilg ibuc

1) AXAMIMATION

2y AXVYWINYLIOMN

3) MOITAMIMAXS

-
4 EXAMINATION

Qeuefl e~ FenwdiEnCuTs

OB uUTEAT  SHOIIUMD  (LPEpsuSI

ursylma. 676ir ?

T sumyellsiT S g epss de maeir
DYFVOOG ST 6T

2) sumy etpevs e misserflear 2 wii Ceusi.

3) sumy epes s Mis EmSHlsn G 2 erar
28 @enLGlasef),

4) Gupsei_ gjememsgih

/

————= rmCurg LEHUCUTEST B
Beveflefl@ia  whlorm  Hoads
LOMMDLD ZysmL_tLjLd.
1) SisHe

3) Glsuiflemsy

2) u(mLossT
4) S isd)
SOLGED  UphGITeT  SsnpsmeT
Curss 2 g6 675 ?

) Gompwih enem T man(h

2) Gu&eafdwid enam_réme
3) srsudlud smamtréeneuh
4y oyspuflefiui snam gréma

QurEhsTHmSS ST (HUly &saqb.
/T Sl Losrv

2) LnghasiT GIT6T

3 GLogHe 2Téss

4) flsuy psmL_Gamen Emml

A NS i+ Empwib—snu—smiuGs
—> aly+_2 _+8BF

1) smiusir Curarmssnev(h

2) smiUsT—6nL— 2,56

3) &eLIT—smL— Y, HEaV(D

4) swrifl& gy &

121.

123.

124.

125.

126.

o salt +

B g i1 ik St 4] e

The image formed by the plane mirror
of the word “EXAMINATION”

1) SXAMINATION

2) AIXVYWINVLIION

3) MOITAUIMAXSI
4 EXAMINATION

Vegetable Brivani, when cooked, its

aroma spreads nearby surrounding.

This is due to

1) The free particles or molecules of gas

2) The high speed of the gaseous
particles or molecules.

3) Tne large space between them.

4) All the above.

On varying the -----——-- , the matter will
change from one state to another.

1) pressure 2) volume

3) temperature 4) density

Which is used as a stain remover in
clothing?

1) Sodium Hydroxide

2) Magnesium Hydroxide

3) Calcium Hydroxide

4) Aluminium Hvdroxide

Find the odd one out:-
1) Litmus

2) Turmeric powder
3) Methyl Orange

4) Red cabbage juice :
r
Citric acid + Sodium bicarbvnate —»
2 -+ water

1) Carbon monoxide

2) Carbon di oxide

3) Sulphur di oxide

4) Nitric oxide

e fa-n-“""~_-.

http://www. trbtnpsc com/2014/02/nmms -exam- study materials.html
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127 G]L;L':(Blrrrguuirr MhS  JYRSHaITMmS
v Saubg) UWssTUBSS6umD sTerr L o7&
BOGUTE Jgmdushiggierers ?
1) yrlusrmed 2} Sy, Lsorren
3) srh@ a6 - 4) Gliog s eormey

128. Spdoamieubmst a5 GenemHmsiv
yasilwin Goreae. Hefloh gy ?

1) S&BETSD 2) smeodlwih
3) @uiatlud 4) Gamgwid

129, smauqmaesT woml eflwkgsst  da
&eaflLomisammsy o (eusTTeneY
SRfloRISEHLET . SiGeT  FS55MST
';QL'W@;{TJQ;}&-.
PR Q@Lﬁl&m ggaia

a) &eflmer i) 18%

h) fﬁﬂffl]ﬁ&r il) L0%,

c)  sHELyE6T i) 63% -
d) enam geer iv) 3%

Va—iii b-i

c—iv d-ii

L 2)a—iii b—iv e—ii d-i
3a—ii b-jii. e—iv d-i
Ha-ii b-iv c—i d—in

130, fleé Al Sieralls 2 srer DEISSEmET
——— ertrm GyEmailed GAINGEGHTL.
1)10°m . 2)10""m
3)10"'m 4) 10"%m

131, &flursm SnHmiSsmer CaiEsHHSaD.
i) erimSierreumis sFliaer CrnGeanm_tg6n

@G dleTmenT.
i) ereifLisiTsumiies &l & GriLileaemio
GummeneL.
iif) sTlTblesTeumiiss sElieem Flsom wHm
L Qués Sybpguemeu ffw
glesTEETaTTe DpETEmE. ,

iv) ngm{ﬂs&nu{rﬁ.lé& SENTEET STEsUMLL
siissn asTyd SEPEEIUEHDS
‘i &ii 2) iii & iv
Hi&iv 4)i & iit

10

127

128.

129.

130.

e g iay P =

Which alcohol is allowed recently by
the central government, to be mixed
with petrol and used.

1) Propanol 2) Butanol

3) Fthanol d) Methanol

Find the zero valent element from the

following. -
1) Zinc 2) Calcium

3) Helium 4) Sodium

Both plants and animals are made from
a few elements. Match the elements

with their percentage.

Flements Percentage
a)  Oxygen i) 18%
b) Carbon i} 10%
¢) Nitrogen i) 65%
d) Hydrogen iv) 3%

Iya—iii b-i c¢—-iv d-ii
2)a—iii b-iv c—ii d-i
3a—ii b-iii c-iv d-i
HHa—ii b-iv c-i d-ii

Atoms which are extremely small in
size are expressed in terms of --—---

1) 10°m 2) 10"'m

3H10'm $H 10 m

Choose the correct statements.

i) The cathode rays travelin _

straight lines. .'

ii) The cathode rays are positively |

charged particles.

iii) Cathode rays are made up of small
particles that have mass and kinetic
energy. '

iv) The cathode rays are otherwise
called canal rays.

1)i&ii 2)iii & iv

Hi&iv 4)i & iii

http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html

T .v-'ﬂ.',,--.-'«-u .w_»-.—-‘ a', '-?"‘-e’:- o, v 5 -r‘t S



www.Padasalai.Net

www.TrbTnpsc.com

138. eufswrouser Lommitd surrtesflsossi
—————— 60\ g1 smflé iU smeT.
1) so@arGumgwtn Clumg
2) wmriendleShur
3) Cnumd@flst
4) Gyfsarai

L1
132. 9@ :&iﬁ"ﬁ%m SIEY DO @Ufﬂfﬁﬂ 132, What is the ratio of mass of 3 water
DADL-TRT Jgmissst Gaibg B ersiny compound, which is made up of
Gemogsder Blenm eflfgtn srsiren ? oxveen . s p o ﬂ.mr
Xygen atom and two hydrogen atoms?
1y1:2 2)8:1 1y1:2 2)8:1
8 H2:l )1:8 $H2:1
133, ~—- SLE] g;@ilurrm. meheyLD, 2 flenen 133,  seen is used as antiseptic and absorbent
@Uff([sm&smm L0(5 &S GeuLossaT &6rflsd bandage in the hospital.
LGS s, 1) Peatmoss 2) Riceia
L ‘ELLP”_“TU 2) flahum 3) Anthoceros 4) Sphagnurti
3) o5& GsTA G 4) s &6
134. gouprer Blosuenus Cais0s08 60, 134. Choose the incorrect pair.
) @gefly B uresh —ags 1) Sprinkler irrigation - Brinjal
2) SITELEUMLL UTEETD  — 6UTENLp 2) Furrew irrigation — Banana
3) Ga6@ & urgern — QEe 3) Basin irrigation - Paddy
4) Glen_ @ B ursann — STl eng 4) Drip irrigation - Grapes
135. @& Gagemeuullser Sglueniuilss 135, Who classified the plants on the basis of
STELTTRISEET fUsHSLILIRGEWLOT WwirF ? their water requirement?
1) Aol .2) surrif 1) Fleming b) Warming
3) Larefer 4) GlLostoTL50 3) Darwin d) Mendal
136. ———— son(lless Horbsrdymt 136, -—--—-- invented crescograph  which
S@ell el STOTRIGERSE 2 6RTI6Y showed that plants have feelings.
a e (h) ereorug) Qaifiu aubss). 1) Aristotle
1) oyl mligss 2) Carolous Linneaus
,2) &Grmsusiy 65165 GevTiLsi 3) J.C.Bose
3) J.C.Gumen 4) Hippocrates
4) enflaGUTSITTL 1 67
137. grefuksalamhal Gasmaumm 137. The process by which the chaff is
Lig SHeow B @ Hespelsm G separated from the whole grain is
1) Sm&E60 called
2) armyfled STHMIGH 1) Cutting
’ sagl . .
3) gmisusnL Gl 2) Winnowing
4) sHIT g &H560 3) Harvesting
) 4) Threshing
138. ----—--- are used in the manufacturing of

paints and varnishes.
i) Lycopodium powder
2) Marselia

3) Dryopteries

4) Resins

http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html
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&L Fomed Sl myevLkgsror @ th 139

1) Algdues e Gusymi
2) @sw g detr Godmi

3) smemg Ssir GLosoLymin
4) epsosrufier Guosbumin

Sl GurGurGrmerilsin ETEITLIG 140.

1) TS 2 milurs @im s

2) eTepbyssTT 2 emiitjlo GsiTanio
Qansimr_gna @m L.

3) gemassT 2 QIHuTs @@L

4) sevs s eugiailphal GméEh

soeulLiflerr ) Gldls yflsrs 2 6Tamg) 141.

0 Guifgens

2) 2_(mensT & &lLpaiG

3) (yevars iy LU YIS ST
4) sy

‘@idurefst  upsmeweflger’  aeTm 142,

SieopdaL(RUaIT

1) amowmusT Ugs el
2) gsih 2460)

3) (oGl 260

4) fstoeomis (Nsfosurey

LSULGSSISENST CETEHHLD 143.

1) 2_smrayLl QTS efemTE e B
GODSSHO .

2) o_goorey] QUﬁ@sﬁ&ﬂ'ﬂsﬁT EimLd, aensy
Lo @t L1 QT (6T G6meT
(QlusoLITeDT HemauliGrGus
S GSS0- '

3) uméLerflwm Lo mmrm?ﬂm
ausTiEAEmW HSMSHD.

1) i w' @ &, i Wombud il Heun

2) i o {i i, iii Syl

3) i, ii, iii epsrapd o

4) i, i, iii f_l}lE&TQJl:IJ U

www.TrbTnpsc.com

Supra renal glands are located

1) on the top of Kidneys
2) on the top of heart

3) on the top of pancreas
4) on the top of brain

Osteoporosis is a condition in which

1) the bones become stronger
2) the bones become brittle
3) muscles become stronger
4) muscles become weaker

Vitamin C is abundantly found in

1) Dates

2) Potato

3) Bean sprouts
4) Carrot

Who is called “The Bird man of
India”?

1) Humayun Abdul Ali

2) Salim Ali

3) Mohammed Ali

4) Biswamoy Biswas

The purpose of food preservation is to

i) prevent food from spoilage

ii) retain the colour, taste and nutritive
value of the food.

iii) enhance the growth of bacteria and

virus

1) only (i) is correct both ii & iii are

wrong.
2) Both i and ii are correct iii is wrong
3) i, ii & iii are correct
4) i, it & iii are wrong

http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html
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145.

146.

147.

RO o T I TR M i N g L

13

Quresgso 144,
a)  UTe uh&eT iy 32
b) Hemess i) 12

L
¢) Qe @l iii) 20

Umasir
d) dsrsLamit  iv) 8

UM & st
Da-iii b-i c¢-ii d-iv
2)a-i b-iii c-iv d-ii
Ja—iii b-i c-iv d-ii
4a-ii b-iii c—iv d-i
afls e  gdes  gaeldh 145,

2 | GlsmaserL_med siiui Crmis
1) 2L 60 LT 2) &L dumianey
3) ssmaaued] 4) epmus Lmd)

www.TrbTnpsc.com

24 -J-‘héﬁa, e T R WP TV

Match the following:
a)  Milk teeth i) 32

b) Permancnt ii) 12
teeth

¢) Incisors i) 20
d) Molars iv) 8
NNa-iii b-i c¢-ii d-iv
2)a-i b-iii c~iv d-ii
JHa-iii b-i c-iv d-ii
dya-ii b-ijii c-iv d-i

Fast food, if taken in large quantities
on a regular basis can cause

1) obesity 2) short sight

3) muscular pain  4) memory loss

geps onleflwsy / SOCIAL SCIENCE

GuTBEETHMSS CoHih6IsBISsa 0. 146.
N (WS SMoaunT B euIn
2) spurt Gamudlsd
J) SiysSeusugt GCamulls
4) EmLeuGstaaunt Gamuflsy
Qumgn &516. 147.
a)  SpLouTer i) sudGs
a&agnl
b @mmGurs i) o ies
) UfsHadgmgy i) ueuGersigai
gGar !
d) edfsyrey iv) BremEST
Comuilsy LIO & 6085
&S
Da—i b-ii c—iv d-iii
2)a—ii b-iii c—iv d—i‘
3a-iv b-i ¢—ii d-ii
f)a—i b-iv c—ii d-iii

Find the odd one out.

1) Muktheeswara Temple

2) Aivar Koil

3) Brahadeeswara Temple

4) Thirubhuvaneswara Temple

Match the following :

Sanskrit
College
Chand Bardai

a) Dharmapala i)

b) Rajabhoja it)

¢) Prithiviraj iii) Bhubaneshwar
Raso
d) Linga Raja  iv) Nalanda
Temple University
)a-i b-ii c—iv d-iii
2)a—ii b-iii e—iv d-i
3)a-iv b-i c-ii d-ii

4)a-i b-iv c-ii d-iji

http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html
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14
Q@& [HTSULTIL yomew 148,
I flpaiiub G e
1) umypE s 2) HGrilwriesT
3) GImSHwir s 4) &6V 76 5T
Smegemr  Coaurmud ' Aé  sTegHh 149,

slLiulL Gamuiis stay ?
1) Camuprgt Gamullsy

2) smaaunspret Camlls

3) el _svemf Gomufsy
4) ameqr qmogndl Camulls

Glur®sgs : 150.
a)  gendlgmen i) Uosr
b) ureflsauresr i) @orusfg
LDT 6T 61V
¢) @imorsyend i) Hlysurasi
d) &I iv) sDeUsTITRD
Da—iii b-ii ec-iv d-i
Dya—iv  b-i ¢—ii  d-iii
3a—ii  b-iii ec—iv d—i
Aa-i b-iii c—iv d-ii
“Wfiyrear andll’ 6T63T (R & SHETITEY 151.
yesLpliue L et wirr ?
1) @o%iﬂ @u.lé&é’; gjg}sﬁlaaﬁfr
2) Wfigir umil
3) BT an i gy e suii
4) Lgmiigid SimeliseT

Cumidsddw  uwenfl  aumsvGsm_smormes
auyCeaumy 2 LsNES @& LsiramT

1) @rmostdlr Coe |
2) dmgerr FoX
3) samrbit

4) gmaoiflei

HreysTeilsT gmauaiod dinu . 153
Y2 sugns @esr  2) eprEanms

3) SjLed LTFE 4) gretrGesir

152.

Copper currency system was introduced

by the -----mns--
1) Persians 2) Arabs
3) Turks 4) Sultans

Which temple was constructed during
the reign of Krishna Deva Raya?

1) Somnath Temple

2) Kailasanatha Temple

3) Vittalaswami Temple

4) Hazara Ramaswami Temple

Match the following :

a) Tulsidas i)  Bijaka

b} Manikavasagar ii) Ramcharit
manas

¢) Ramanuja iii) Tiruvasagam

d) Kabhir iv) Vaishnavism

Da-itit b-it c—iv d-i

2)a—-iv b-i c—iti d-iii
3a—ii b-iii c—iv d-i
$Ha—-it b-iut  ec-iv d-ii

Who was known as ‘Meeran Shabib’?
1) The sufi saints

2) Saint Mirabai

3) Saint Nagore Andavar

4) Maharastra saints

Which Indian king gave warm welcome |
to portuguese sailor Vasco-Da-Gama? |
I) Ramachandra deva :
2) Singhana
3) Jahangir .
4) Zamorin l

The Chief architect of Tajmahal was —-
1) Ustad Isa 2) Shah Jahan
3) Abul Fazal 4) Tansen

http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html
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1>

mrr:rm@mdm;réwfu &SG5S wgTreT
sevell Bimeusgemg, Susdlu gy e

1) $L0.1780 2) &.9.1781

3) $1.9.1785 4) $.19.1786

154.

éﬁwf&f ) mﬂﬁﬁ]ﬁfu Lﬂl’ﬂ_l g‘nmshgjsmm 1
SHIEMUSEG BundGs @ (b =

) St 2) mamsmung,
3) &liosur 4) BOsHST

Spsemr_eumnflsy . -

CoiECsB&aa 0.

1) @lrreor Cam_iare, UT& 6.8
UTT e &6m& ungds, Gumfudls Ghomf
Gluwr g

2) SjUsouTEs, @Fmomusm (s wimh
USTUTTS 508 LTS GLom e
Guomfl Quwirt g g

3) grenGestr, yGular omeumu
SnusflEg @enagyrafl 6T,

4) euflomwstr, @une daer ereny
Glgmupems @lhndmg, sl igemr.

i, ii

3) iii, iv

- gflwmssr S Mo

Hensowmesr Hevsufl L gang srysraursSisn
7y s el aflysiuGsSSu ugGS
1) suruamaTid 2) Glgssremsar

3) Glsvebdl 4) mamsTTUNS

Girrsusdriast sraugdn Camnin sl &
seoallar  Amlurer  aHGHS  srlLrs
&lepoug).

1) Slsveuryr Carufle

2) sLnamr Gamullss

3) oyuilmid greser gy ouid

4) stell oL (&6 GHmufed

‘Bl sradledl” @pemmen
SiflpstuBSdueud wrr ?

) sisuT 2) emoLamyy ear
3) mamraidt '4) agmenammsiT

th
v

156.

157.

. 3) Delhi

158.
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AL S P ST e \‘ ;.
2

The Calcutta Madarasa was founded by
Warren Hastings in ce--eeee |
1) 1780 A.D 2) 1781 A.D
H1785 A.D 4) 1786 A.D

Lord Cornwallis ¢reated Commissioner
of Police office at ——ceeeeeo .

1) Bihar 2) Hvderabad

3) Simla 4) Calcutta

Which among the following statements

are true?

1) Raja Todar Mall transtated
Bhagavata Purana into
Persian language.

2) Abul Fazal translated Ramayana and
Mahabaratha into persian language.

3) Tansen was a great musician in
Akbar’s court.

4) Humayun constructed a building
known as Ibadat Khana.

1) i, ii

3) i, iv 4) i, iii

Lord Cornwallis introduced Permanent
Settlement Act initially at

1) Bengal -2) Chennai

.4) Hvderabad

The fine specimen of temple architecture
during Rajputs period is
1) Dilwara temple
2) Shore temple -
3) Thousand pillaritemple
4) Elephanta cave temple

%

8 b
Who introduced the ‘Chain of Justice'?
1) Akbar 2) Humayun
3) Jahangir 4) Shah Jahan

http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html
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Qapdagmeflsir &y sjeubgisrer Gt 160. Shershah Mausoleum is located at ---—
7) jerGam. 2) &L 1) Amarkot | 2) Sasaram
3) Gsvsdl 4y oy fam 3) Delhi 4) Agra
yefufisir  Gulemiyd  BeuQufluerefh®  161. Large scale vertical movements of the
Qei@sgl woie| gouismg e earth’s crust are called ----- movements.
SisnLpsHHGmmb. 1) Anticlines
1) GLosh susmsTey 2) Synclines
2) &ip susnHeTeY 3) Epirogenic
3) mACTEmefls mesimey 4) Orogenic
4) LEMELILITES HEHT6Y |
‘duor eey sLeop Cubur® @aupore 162, The Oceanic crust ‘SIMA’ is made up of
Sl S5 1) Silica and Molybdenum
1) HedlS s hHmId LomsSiiaeorid 2) Silica and Magnesium ;
2) A& an wHmin Croseafeluin 3) Silica and Manganese
3) flefG & WHmid LrHiseTe 4) Silica and Magdalium
4y Aedlsem mmLh oL reSluid |
usran  Gsrmy  oem  @oks  erfwms 163, The extinct volcanoes of Panaka Hills
srerLu{pn GhLb are found at !
1) S rGgen 1) Andhra Pradesh
2) gymemése BiTegED 2) Arunachal Pradesh
3)" gy bSLOmedr 3) Andaman
4) gy nWfiser 4) Africa
QU LESIS: 164. Match the following :
a) ustSd iy ACrd a) Bush Fire i) Brazil ;
by Lidah iy LAdS b) Famine ii) Pacific Ocean | _
Qi ¢) Forest fire iii) Indonesia |
o sMGHS il @i CanGeraghum d) Trade iv) Australia ‘
) efomumgs iv)  SpsodiGrsiur winds
Sl
) Da-iv b—iii ¢-ii d-i
a—iv b-iii c-ii d=i a—iv. b—iii c-i d-ii N
2)a-iv b-iil ¢c~-i d-n 3)a—ii b-iv c-i d-iii
3)a—ii b-iv c-i d-il #)a-i b-iv c—iii d-ii
4)3"li h-—iv c¢—it d-ii _ ) | | i
. i 165. The eye of a cyclone is & ~~--——- -
S W N L0. i
uuaBlor ST =5 1) Coastal area 1
N &L»Gf“ﬁu@g 2) Vacuum area |
2) GleupPL- . i 3) High Pressure area
. : b :
3) a-ut G vy ;s:rh 4) Low pressure area
4) MpaRSS LT

http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html
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166. LeHmasle 2 : .
%ﬁfwﬁn 0 gl 31';;’“—";5”5_’4 LOGHHTL_6ULD 166. High Damage Risk Zone in India is
: LEHETL - :
. . 1) Bihar 2) Puni:
3 Lo - ) u“j;lb
) SIS 06T 9) sllpET@ 3) Andaman 4) Tamil Nadu
167 Qiﬁ:g&m;%@ﬁ? ED 6T SOV EUFTF EUIEALS 167. When the doors and windows become
1) srflosme Ge '%mﬁrrm aESTISme tightened, it is a warning signal of
2) L s 1) Volcanic Eruptions
3) Avéeriay 2) Cyclones
2) DeosGést 3) Landslides
. o 4) Earth Quakes ,
168. Gesgpet 2pfle@ @W@ anenar (B An ). 168. The Challenger Deep is a Trench
1) Giseir LSUNS GuEnRIGL 6 found in -=~—-
2) 511!—_'—'511515" Qu@rﬂ‘f"—m ] ' 1) South Pacific Ocean
3) &WL“W%@U@F&{&LW. 2) North Pacific Ocean
4) Sj-euTETTip S GugmisL e 3) Antarctic Ocean

3 4) Atlantic Ocean

169. 2.ufifl G ST eTeuaIEmS 169. From which one of the following crops,
| SToTSSESBES! 9—(‘.’9'5”“5@@1 ? | bio fuels are produced?
1) Ggullsms, smindl 1) Tea and coffee
2 U@F-T?é] EFETTE 2) Cotton and Jute

3) Sugarcane and Jetropha

3) & (L, tg}bmsuurg,@;
4) Paddy and wheat

4) Qrev, GCargienLn

170. eefl LI@LD GEETEDLO Qv g:rrgu- 170. The mineral which allows light to pass
1) pamb 2) s5&6M0 through is
3) gyeuGluenL Te 4) L& ST 1) Tin 2) Sulphur
3) Asbestos 4) Mica

171. The first fuel which caused the

171, Qemfihur’ dsow gHUGSS
Industrial Revolution is

i

(peed sTAGILIT (6T

1) QUL Gymedlwitd 1) Petroleum

2) s&&T srezTGleToTL 2) Crude oil
3) Besaifl 3) Coal

4) Guwihens sTifleumy 4) Natural Gas

This is a non-metallic mineral .,

172. @msu o Geungiomm  S&flo QUM SHEDILIE 172.
FTHSHTSL 1) Copper 2) Diamond
7 Qoo 2) UL 3) Bauxite 4) Magnetite
3) LT &L i3 GuosseremL L .
173. Qomiksl a_moundlé G&nmﬁrq@é‘)@m LoguTT 173. The soil whic!l replenishes s
" 1) siflesd wem 2) QleLbLoesat continuously is _
o 1) Black soil 2) Red soil

: .\ LosHET .
3) Sensi L6war ) euEsBrL 60 3) Sandy Soil 4) Alluvial Soil

http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html



www.Padasalai.Net

174.

176.

177.

178.

179.

R AR S o O T T, o -

wetnr @sfiikg) 2 emmud Geudiflsms
1)5'C
2)6’C
3 4°C
4)8'C

QurEEETS @enemrawd CaitCeH&HSaID.

1) BHEL - Sm&d

2) SAIL - Gzeuld

3) TAMIN - &\(meueThSLTL

4) TISCO - snmbGaal LT

G\pHenS el suail a_fenLoullsir
PSS GUSDS S ruSGeuwT
smusHenty sl saLlld TS ST HS
iFmar  QUIIAISDSTE Iy@LurGUL
& ENEVELIT

1) mrsomrmid GLom s esTmil

2) LASLIT g &(msiasmemsir

3) Garuren S heisenr Gore b

4) aitiuogoefls Ly

T @ig@mrrnﬂe’n‘r SIWIOIEVS Bemewariiy

Quomfwmgito

1 aufisd) 2) 5

3) gLV HSLD 4)}9561.@513&

GLEIpHM g 68T EXNL AL CaamsuuilsiT 2 gaf
6T600T.

1) 100 2) 101

3) 103 4) 108

G wsfls o fepuast SyemeriuGSsi
HHOUTESIL &6mEosuT

1) uf 5CWBST LIT60

2) EHuS.uh sTé.5T60.553)

3) ﬁélu,é,l.urém_r'r.@as.@rnrm&rnﬁl

4) FHuS.M.urgEor el

175,

176.

177.

178.

179.
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The soil gets cold and condensed when
the temperature falls below

1)5'C

2)6' C

3)4'C

4)8'C

Choose the incorrect pair:

1) BHEL - Trichy

2) SAIL - Salem

3) TAMIN - Tiruvananthapuram
4$) TISCO - Jamshedpur

Name the leader who demanded the

Right to Education for Indian Children
in the Imperial Legislative Assem bly.

1) Rajaram Mohan Roy

2) Dr. Radhakrishnan

3) Gopala Krishna Gokhale
4) Subramaniya Bharathiyar

link language.
1) Hindi
3) Sanskrit

2) Tamil
4) English

The Helpline number of Ambulance

service in Tamilnadu is
1) 100 2) 101
3) 103 4) 108

w-—==—- has been declared as an official |

Who is the chairperson of the National

Human Rights Commission at present?
1) Shri Satyendra Paul

2) Shri.Justice H.L.Dattu

3) Justice Dr.K.Ramaswamy

4) Justice Ms.M.Fathima Beevi
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TR %
19 g
180. G}un@g@;&: 180. Match the following : i
a) g&oud 10 i) osrdano a) 10™ i) UNO day ’
December ;
b) &GLIUT24 i) o w8 wéser by 24" i) World
Gerens October Population
&learin X Day
c) gmema 11 i) 208 o 11" July iii) World
: Literacy Day
o7 ¥ Day
gﬁiﬁﬂm d) 8" iv) Human
d) Qe ibur 8 iv) weflg September Rights Day
o flsmnssir
dlearin
1ya—ii b-iv c¢—i d-iii l)a-ii b-iv c-i d-ii
.2)a—-iv b-iii c-i d-ii Z)a—f\' b—fii c—.i" d—ii
3ya—iv b-i c—iii d-—ii 3)a~fv b—! ¢ — iii d‘ff_
4)a-iv b-i c—ii d-iii 4)a-iv b-i c—it d-iii
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